

J'ajoute et j'enlève

Énoncé 1. Complète la suite :

7 - 17 - 27 - ... - ... - ... - ... - ... - ... - ...

Énoncé 2. Calcule :

7 + 1 =	7 + 2 =	7 - 1 =	7 - 2 =	7 + 3 =	7 + 10 =
17 + 1 =	17 + 2 =	17 - 1 =	17 - 2 =	17 + 3 =	17 + 10 =
27 + 1 =	27 + 2 =	27 - 1 =	27 - 2 =	27 + 3 =	27 + 10 =
37 + 1 =	37 + 2 =	37 - 1 =	37 - 2 =	37 + 3 =	37 + 10 =
47 + 1 =	47 + 2 =	47 - 1 =	47 - 2 =	47 + 3 =	47 + 10 =

Énoncé 3. Trouve le terme manquant :

7 + = 10	7 - = 5	/	7 + = 17
17 + = 20	17 - = 15	17 - = 7	17 + = 27
27 + = 30	27 - = 25	27 - = 17	27 + = 37
37 + = 40	37 - = 35	37 - = 27	37 + = 47
47 + = 50	47 - = 45	47 - = 37	47 + = 57

